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ygt 7 37 6 3! arel O Al # SR faded e fobar ma 7l t@ruﬁrﬁ
hael U [doped & & FR QT

(v) < At S 3 s v 8 ik Rl T A 8 wden s A1

(vi) eTgperex B JANT B Al T &

(i) There are in all 30 questions in this questlon paper. All questions are
compulsory.

(i) Question No.1 to 10 carry one mark each. Questlon No.11 to 15 carry
two marks each, Question No. 16 to 25 carry three marks each and
Question No. 26 to 30 carry six marks each.

(i) Question No.1 to 5 are multiple choice questions. Here four options are
given in each question. Write the correct option in your answer book.

(iv) There is no overall choice in question paper, however, an internal choice
has been provided in two questions of 2 marks, three questions of 3
marks and three questions of 6 marks each. You have to attempt only
one of the given choices in such questions.

(v) In questions on construction, drawing should be neat and exactly as per
the given measurement.

(vi) Use of calculator is not permitted.

(1] [ P.T.O.
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The n'™ term of a series is 2n+1, its 10th term will be-

(i) 10 (i) 19 (i) 20 (iv) 21

sin 25% cos 65° + cos 25° sin 65° &T HIY §qige - 1
Evaluate sin 25° cos 65° + cos 25° sin 65°

(i) o (i) 1 (i) 90 (iv) 1/42

TP TMT B T 14 J. &, F90T Iy BRT- 1
The diameter of a sphere is 14 cm, its surface area will be- ‘

() 308 cm> (i) 4312/3 cm? (iii) 616 cm? (iv) 154 cm?
AABCH, AB=6,3 3., AC=12 3. 31k BC=6 391, &| @1 B & 1
In AABC, AB=6,/3 cm, AC=12 cm and BC=6 cm, The angle B is -

(i) 1200 (i) 60° (i) 90° (iv) 45°
%maﬁ%w%ﬂm%wﬁmmmmaﬁmﬁmﬁ 1

A die is thrown once, the probability of getting an odd number on the top will be-
1
o ok - i R -
M 5 (i) b (i) 14 (iv) %

ﬁmaﬁ%mw&m%ﬁw%qﬁﬂam 152,9 == T TYHCTd TR T &

RIS IEGIEG 1

129
22x5 %75
will have a terminating decimal €Xpansion or non-terminating repeated decimal

Without performing the long division, state whether rational number

expansion.

%%ma@amﬁﬁv,%ﬁﬁg@aﬁmmwwm: 0 /5 & 1
The sum and product of the zeroes of a quadratic polynomial are 0 and 5

respectively. What is the polynomial?

231 (HOG) | [2]
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8. feuma TR x2-4x+4=0 & Hell B! Hhd FT DL 1
Find the nature of the roots of quadratic equation x2-4x+4=0.

9. UH g B [t el I & Wl 87 1
How many tangents can a circle have?

10. v i gea & T wiiaser gt &2 1

* What is the probability of a sure event? |

11. 2 SIS BT 3R 26 & 3R ve e gadt e @ 3F T 81 S 9 sl 2
The difference between two numbers is 26 and one number is three times the
other. Find the numbers.

12. i cos 0=4/5, dT (cot 8+cosec 0)2 B A ST HiTE| 2
If cos #=4/5, find the value of (cot 8+cosec 6)2.

13. Ta1fasg (3, 2), (-2, -3) 3R (2, 3) va Py &2 afe &, &t samse & &7 voR &1
frget v &7 2
Do the points (3, 2), (-2, -3) and (2, 3) form a triangle? If so, name the type
of triangle formed.

14. Tfe & 7 3Pl A DE||AC &, T x BT A 31 DIoTe| 2
In given figure if DE||AC, then find the value of x. :

3@t (OR)
231 (HOG) [3] [ PT.O.
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15. 7215 52 U1 &Y TSN I U UK IgedT Wial ST &, MRiddT 51 S 75 ag -
(®) FaHIE| 1
(@) et 1 P 2 1
A card is drawn at random from a pack of 52 cards. Find the probability that the
card is -
(a) an ace.
(b) ared card.
31dr (OR)
T STR H Pt 24 Wi &, T 35 &) 3R oy el €1 v 1ie Tgemar Rl s &
3R 59 & B B Rrwar 2/3 1 R # et eft et 2 e wEE 2
A Jar contains 24 balls, some are green and other are blue. A ball is drawn at
random from the Jar and the probability that it is green is 2/3. Find the number -
of blue balls in the Jar.
16. Nz oifow & 7 e 3Ry e 1 3
Prove that /7 is an irrational number.
3di (OR)
gfc 1261 G 1067 BT H.C.F. 97 &, & 59&T L.C.M ST &IfsTe |
If H.C.F. of 1261 and 1067 is 97, then find their L.C.M.
17. 'a’ @1 AH Fd DI drfcs fGoma wiiaxor (a-12)x2+2(a-12)x+2=0 % TeT TAF &
: 3
Find the value of 'a' such that the quadratic equation (a-12)x*+2(a-12)x+2=0
has equal roots.
231 (HOG) [4]

T & e fum |, afg pQ||Rs 2, aF fag SIS B APQO~ ARSO 2|
In the following given figure, if PQ||RS, Prove that APQO~ ARSO.
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12 2 4
18.ﬂﬁmﬁ;+*=33ﬂ?;‘;=26ﬁ3ﬁﬂaﬁm 5

19.

20.

y .

1
Solve the equations X e ; =3 and —-—=2,

N
N
N

fosel THaR AU (A.P.) BT M U< 5, 3ifa Ug 45 33R 9&T &1 9N 400 &1 ual B e
g TTd~R ST DT 3

The first term of an A.P. is 5, the last term is 45 and the sum of terms is 400.

Find the number of terms and common difference.

g s - 3
Prove that -

1+secA  sin’A
secA 1-cosA

312rd1 (OR)
Rzaifoe-

Prove that -

(1+cot A-cosec A) (1+tan A+sec A)=2

21. 39 forg & Fderies s1a difate, S fmgait (-1, 7) 3R (4, -3) @1 e arer Yamavs &
2 : 3 % 3RuTa # i e 2 3
Find the coordinates of the point which divides the join of (-1, 7) and (4, -3) in
the ratio 2 : 3.

22. x-318 W 98 fowg 511 Dife 3 (2, -5) 3R (-2, 9) ¥ W=y & 3
Find the point on the x-axis which is equidistant from (2, -5) and (-2, 9).

231 (HOG) [5] ' [ P.T.O.
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23: %aﬁ@rcﬁ%a‘cfmaﬁ_mqsﬁaraa%r%m,aﬁ ABCD, 35T 14 3. BT TS
sk DPC 2 3 ¢l |
Find the area of a shaded region in the adjoining figure,
side 14 cm, APB and DPC are two semi circles.

& 1 APB
3
if ABCD is a square. of

D r—’—' 14 cm: c

A o

@t (OR)

41‘41%.ﬁﬂaﬁﬁ@%ﬁm@%omsmmmﬁﬁm,mmw%t

e S Breaars 3 erapet O 3 il (n=3.14)
Find the area of the sector OAPB of a circle with radius 4cm and of angle 300.

Also find the area of the corresponding Major sector (=3.14).

24. & cm Fsa &1 Us ga @irae! aﬁmo_cmegﬁmﬁuasﬁg'@rqﬁmmmqma%
ma%’r%vaﬂ'{s:\a%‘ramsﬁmﬁm

Draw a circle of radius 6 cm. From a point 10 cm

3

away from its centre,

construct the pair of tangents to the circle and measure their lengths.
231 (HOG) ) ' [61 |
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25. %ﬁm%%ﬁwﬁﬁﬁﬁﬁw@ﬁﬁaw-méaﬁaamw
%ﬁsﬁaﬁﬁaﬁmﬁi@@gméﬁwmﬁawmﬁwmél 3
Prove that the angle between the two tangents drawn from an external point to
a circle is supplementary to the angle subtended by the line-segment joining the
points of contact at the centre.

26. I AHAT & AT BT 3FTT 9:7 8 3R 37 wralf o 3ruTel 4:3 &1 I v fRE Uy
A # %, 2000 T AT & & I MRS AT 5 Al 6
The ratio of incomes of two persons is 9:7 and the ratio of their expenditures is
4:3. If each of them manage's to save Rs. 2000 per month, find their monthly
incomes.

34T (OR)

S HIex dle, oot Rer 577 @ 18 Kmy/h &, 24 km &IRT & HfergeT ST , a8 g
UIRT 35 3R 3T Y 3106 1 T 3 A &1 eRT B et 1 A

A motor boat whose speed is 18 Km/h in still water takes 1 hour more to go 24
km upstream than to return downstream to the same spot. Find the speed of

the stream.

27. U 80 mﬁé@%ﬁﬁmmﬁ-mwmﬁmﬁaﬁ@aﬁgﬁl S Q) T

& S 5e o U farg Y Wi & R 3 310 ot e 60° 3R 30° EH Bf Farg

IR @i ¥ g o 0 5 Hfse 6

- Two poles of equal heights are standing opposite each other on either side of

the road, which is 80 m wide. From a point between them on the road, the

angles of elevation of the top of the poles are 60° and 30° respectively. Find the
height of the poles and the distances of the point from the poles.

3@l (OR)

wa@%m%%ﬁ@#wwsﬁaﬁm%%u&m%waﬂw
T 30° 3R 450 F| SgHfaTeT wo &t Sas 3k & vl S S B o 7 S

The angles of depression of the top and the bottom of an 8 m tall building from
the top of a muiti storeyed building are 30° and 45° respectively. Find the height

of the multi storeyed building and the distance between the two buildings.

231 (HOG) | [7] | [ PT.O.
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28. fag ifo i vas awaIoT Frefst # ool &1 gt 3= &1 Y3t & amif & AT & aRIeR &l
gl | 6
Prove that, in a right triangle, the square of the hypotenuse is equal to the sum

of the squares of the other two sides.
31d1 (OR)

90 cm B TS ATCl U Asd! acd ol U @A b 3R I W 1.2 m/s & Il F T
& 81 ot so5 4fF 9 3.6 ma?rarzns‘tr?%* Y 4 T3 T8 3T TSDH! DI BIAT B AT
T DIt

A girl of height 90 cm is walking away from the base of a lamp-post at a speed
of 1.2 m/s. If the lamp is 3.6 m above the ground, find the length of her shadow

after 4 seconds.

29. U 69 3109 T ¥ &1 10 m AT arell 3R 2 m TEX U6 Sa-ToR Sal Y AidRe
ST 20 cm 9T Ueb UTSY &R U6 18X & edr 21 afe uisu § =t 3 km/h &) o1et F 68
@1 &, Ot fobam 9 a1 St R ¥R SIa? 6
A farmer connects a pipe of internal diameter 20 cm from a canal in-to a cylindrical

tank in her field, which is 10 m in diameter and 2m deep. If water flows through
the pipe at the rate of 3 km/h, in how much time will the tank be filled?

30. & 10 % 60 BT & U H Wil -t ARON § 9 T & WIiiop! &7 Sgeia S

HifwE| 6
af 3R | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

(i)

B &= 6 14| 10 | 15 | 5 10

Marks obtained in mathematics by 60 students of class X are shown in the
following table. Find the mode of the marks obtained.

Class interval (marks obtained)| 0-10| 10-20| 20-30| 30-40| 40-50| 50-60
No. of students 6 14 10 15 5 10

% % %k k %k

231 (HOG) [8]
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